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Seciion A {8 x 1 mark)

-Questions 1 to 8 carry 1 mark each.
ror each.guestion, four options are given.
One of them is the comect answer.
Meake your-ehoice (1, 2, 3 or 4} and write it in the brackets provided.

1. What is the missing number ?

m 6
(2) 7
3) 8
(4 9 { )



2. th’r number comes between 5and 7 ?

m e
2 8
3 6
4 ()
3. 9- =5
om o
2 2
(3) 3
4 4 ( )

/\ <O

triangle square rectangle heart
The is the second shape from the left.
{1} Hangle
{2} square
{3} heart
{4) rectangle ( )




5. 2morethan4is

(1y 6

(2) 2

@ 5
“ 4 )

6. James has 5 paper clips. Sally has 3 more paper clips than James.

. How many pagpér clips does Sally have? |

(1) 7

2) 2

(3) 8

4 9 ()
7. 10-_ = 444

(1) 1

(2} 2

(3) 8

(4) 18 ()

8. Which of the following gives the smallest answer ?
{1) 1+3
{2) 5-4
3) 9-6
(4) 7+0 {



Section B {5 X 1 mark}
Questions 9 to 13 cany 1 mark each.

9. Count and wiite the number in werés

cakes.

10.  Wiite the nuimbers in order.

Begin with the biggcst number.

a0%0

1.

There are more chicks than ducklings.

4




12.  Write a number sentence using the following :

9 2 / -

It

13.  Cross out the box which gives the bigger answer.

3+4 | 9-0

Seetion C {1 X 2 marks)
Question 14 carries 2 marks.

14.  Ben has 4 toy cars and 3 balls.

How many toys does he have altogether?

Ben has toys aliogether.

2t
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SECTION B

9. Seven
10. 10.9.7.6.4
11. 2
12. 8-
13.
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SECTION C
i4. 4+3=7
Ben has 7 toys altogether.

FOgyc . w4
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